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A m® 81. 4
LRERET 1/ (RM-30) ,
t=12cm m 81.4
TREEET TE (RC-40) ,
t=15cu m 81.4
<HEBL>
®ET e | PR R - SR
B As 279, 64 - 0.53 X|
t=5cm 3»’?‘@?‘ - 0,14 X lf]‘J_“JT‘ m 277.9
< T >
Y TR 5B (RY-30) ,
&Uﬁﬁiﬁigﬁ t=10cm m _
T8 (RC-40) ,
t=15¢cm m —
TR E LD >
BRI A e .
t=2em (81.4 -+ 2.6 )% 0. 20 m 16.8
< [PREEIE >
HlL SR AT (RM-30) EETRR HEE T .
t=3cm 277.9 — 81.4 — 3.5 m 193, 0
< EREEFRRL A >
{SAE 1A [As t=5en m® 81.4
BH Al T80 Mt T
As t=3en 81.4 + 3.5 [ mEm] 84. 9
BRI ZC R HEME T ,
AN |as t=Fan 277.9 — 81.4 — 3,5 [Basin] m 193. 0
< EhEE ALY T >
(548 19 8% |t=5em 81. 40 X 0.05 m® 4.1
- t=3em 84,90 X 0,03 '3 2.5
A4 B0 | i=5em 193, 00 X 0, 05 m 9.7
& 2 m® 16. 3




s LRIEE(2/2)

B o3
Fi' Al TR ~1h # =1 =" BEAT| # =
< BRTEAR T >
A H £
EfE w=15cm 5.3 + 2.8 m 8.1




R EAEEE (As)

B 3
&5 a(m) b{m) ¢ {m) s An2)
1 5. 0B 2, 46 4, B8 6. 05 5. 62
2 4. 58 3,20 4,51 6. 15 6. 80
3 3.27 1, 68 3. 11 4,03 2. 57
4 3. 11 0.45 3. 50 3,563 0. 37
5 3.50 1.34 3. 79 4,32 2. 34
6 3.79 3.79 4. 11 5. 85 6. 54
7 4. 11 9,81 8, 27 11, 10 16. 77
8 8.27 4, 06 4. 76 8. 55 6.32
9 4.76 18, 28 13.28 17.16 26. 95
10 13.28 5. 80 7.82 13, 45 9.92
11 7,82 b. 33 3. 83 8,49 9,15
12 3.83 10. 03 12. 18 13.02 17. 34
13 12. 18 8. 80 4,39 12, 69 14. 37
14 4,39 4, 85 3. 82 6. 563 7. 98
15 3.82 5. 24 4,54 6. 80 8.45
16 4,54 2. 20 3. 44 5. 09 3. 65
17. 3. 44 1,28 3. 77 4,24 2. 16
18 3,77 1. 46 3. 31 4,27 2.40
19 3.31 3.19 4, 43 B.47 5.27
20 4,43 0.53 4. 04 4, 50 0.76
21 4. 04 1. 39 3, 24 4, 34 2. 03
22 3. 24 3.19 5. 29 5, 86 4,83
23 B. 29 13. 00 9.30 13. 80 20. 48
24 9.30 5,72 4.34 9. 68 8.82
25 4,34 3,72 3.19 5. 63 5. 79
26 3.19 0. 86 3. 09 3. 57 1.33
27 3.09 1.58 3. 50 4, 09 2. 44
28 3.50 2. 69 3.19 4, 69 4,09
29 3.19 1,95 3. 43 4.29 3. 06
30 3, 43 0. 57 3.23 3. 62 0. 89
31 3.23 5. 12 6. 74 7. 55 7.97
32 6. 74 6. 80 3. 26 8, 40 10. 71
33 3.26 2. 40 3. 56 4, 61 3. 80
34 3. b6 4,95 4,45 6. 48 7. 67
35 4,45 6. 03 4,29 7.39 9. 53
36 4,29 5. 18 3. 83 8. 65 8. 07
37 3.83 2. 03 5. 26 5. 56 3.19
38 5. 26 5. 175 3. 44 7.23 8. 90
39 3.44 4,16 4,00 5. 80 6. 36
40 4. 00 2. 58 3. 06 4,82 3. 95
gt (m2) 279. 64
Eud
(NABEATL)
7 ot /4K 0, 4272 X 1T = 0. 14 (m2)
{14037 A FL)
7T /4X0, 82 2 X 3 ET= 1. 58 (m2)
AR () 277, 92




2-1. RERET



REFETRE B

Mg (ER4) SR | BEARA | AR K f#%

B

E—F oA bB
OIHETS) 1

TARF— | E“Tﬁi,%

1
B —F—T7—
(BEAS TP A 5 LT 1
Kilyp—Z—F— )
(RigEE) 1




§3. M EHALTR



3-1. WfTEHET
(ﬁ%ébmﬁ—U/Oﬁf)




No.

INAREHETHENE HRIPER—Y LI (—BHF—LUTHR)
MAHEHET Um ]
B EAEHE .
I 15 o 4521 Fey B
kc3
NOEHEETE Ao Un—Er— Vo AR -
£ S DE AR §P 45300 g
R 4.20 n 4.2
SRR VU200 3.30 m 3,30
L 8P 300 2,54 " 254
RHRS L DR St ()
WEE 0=1 300/A .
oW VU ¢ 200 3 3
no—
VU 200 2 * 2
AR —
YU 200 2 {@ 2
0=, G/ x
$P 300 2 2
ARG Taw B
MELKE 300 1 1
ST 0
e SP@300 2.54 2, 54
EEERAL
VU200 2,54 " 2.54
FABHIEAT )
VU ¢ 200-8P ¢ 200 0.00 " 0.08
3
FETMHT 0.20 m 0.20
wranr|  smoT @mEsm 2 et 2
HWREL (r—wdh) - e -
BT (BRARED 2 Ll 2
BT (r—u) - L -
e | L |
HERESRAT . Rl -
A

A AR T




FUIPEAR AV TAS —E5—2 07K HEIE #HHHEER

SP @300 EHET - SEwsm 1665%1665
[FEHE]
4 3 =
M HERE D  |mremase 3 K3 & E T s | m *
B AR | LA % K =ik I=C-+L H EE— z E3) ¥ iy . z
# |22 52 Iemen EHER #EEE| FTRT) s HE(vuE[so— A< | 4 (@ (% (% |2 2| = | 2| B |2
& : T | LR T e | EFE TEEl| EFEE| E& | o300 | EF - m] 7| & E ; A & A = s
= A C=A-B E=A-D | F=D-B HeD-glL= |L= Joa00|gao0| T | U | 88| 5 | £ | B X~ I = 5
Tl | Fadl 1.30 | 1.30 | @ 1.30|@ 1,30 ITl=]|z]| = v
FEEl EFEREl m m rn m m i n n rn rm Y + {& B | &Fr | &rr [ & | Bl S 8] m m3 m3 &
FEKEEREB] No 4[8HIZIS )
—Ho. #8712 | BEHE! SBT1S 4,20 0.45] 0.45 3.300 0.83 0.83 2. 54 0.76) 0.53; 0.53] 0.60 2 3 2 Z 2 2 1 1 2.54] 0,08 0,20 i
£t 450 3.30 2. 54 0.78 0.60 2 3 2 gl 2] a2l 3 1] 2.54] 0.oe| o.20 1
R T B £ =
VE | HEIE | REEE | TADEANE ETE
EHES A {mom} (mm) (mm) (m3/m) (m3/m
i
8 SHEE C 528 B P80 oe7 4 6.6 0.030 0. 056
D BEEE E smag| 0 (164)
200
I Liny| 3185 6.9 0. 037 0.080
L PR @ 250
T (266)
AN W AW 6300
E‘\\ijf N (318)
e S 6 350
I {370)
< ..ng - 6 400
SHEER T BEmEL T (420
450
(470)




3-2. MRFEET
(B2 & #f AR 3L )



No,

= [FE]
T
a A BEHE By M
SRR T
EHliza ey 1 As t=Fem m
S EEL T As t=5cm ma
H7 AT As m3
T
THARRIT] #HABHL0.28m3 6.10 m3 6.10
BEEMT| RC-40,:-20cm 0.77 n2 2.7
HETL o) md -
i) 1,03 m3 4.03
BE LA 6.10 3 6.10
BT
HEESE 5AR 5
R L=2.50m 3.33 m .
FET 2R 3.33 - 3.33
AL 0.986
L=2.50m 0,986 b
SHEIT 122 n 1.32
SHPERT VU ¢ 200 0.77 n 0.77
e T
F T As t=Hem m2
INEEET
RESE t=10cm mé
TlEpR
me

t=15¢m




R REIMT [FAERHG® 18#a<rr—I)
[&EFHE]
I 2 i = BEifl &% & T & & z BEorl ¥ &
A HLEEET A= 1,685 X 1.665 = 2.772 TET EE= 250 FHRIT= 2 B
EEHRE FEEMEIE L 1.665 X4xX1/2 = 3.3% | m 3.33
MET 3.320| m 3.33
As t=5em ( + )x2 = m
As t=5em A = m* EE W= 25 X 6.6850 X 0.059 t/m2 = 0.986] 0.586
HS sy
As t=hHcm X m®
D zX( 0.319 +0.10) = 1.316| m 1.32
STHHRERI T EEIGE  dpsE SEHLEAE
BH1110.28m3 ( 2200 - Yy X 2.772 = 6.098]| m’ 6.10
ep EE T A= 1.665 X 1665 = 2.772
(RC-40,t=20cm) m 2.77
HEET SHERERRL
V1200 ( 0.833 - 0.450 ) X 2 = 0.765| m 0.77
BOBE| EEE iR BEE
2.200 - 0.20 - = 2.000
B SR ST
2.000 X 2.972 = §.544 As t=bem, BE#E t=25cm m*
ER
x/4 % 1.100 "2X 0.130 X 1 = -0.124
ER{k-EEE
=/4 X 1.060 "2X 0.900 X 1 = -0.779
#ME
x/8X (0.82°2+1.05° )X G600 X 1 = -0.418
E-E 0370 - = 0.370
w/4 X 0.820 "2X 0370 X 1 = -0.195
gt = 4008 m® 4.03
FEAE AT
m° 5.10




